Seat No.
CA-1l SARDAR PATEL UNIVERSITY
E 4% F.Y.B.COM.(EXTERNAL) EXAMINATION
Wednesday,27™ April,2022
900 AM. TO 11.00 A.M.
UBELICCOMO03 — Business Mathematics
Q:01(A) Define the following sets

Q:01(B)

Q:01(A)

Q:01(B)

Q:02(A)

Q:02(B)

Q:02(A)
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(i) Sub set of a set (ii) Equality of two sets (iii) Power set (iv) Singleton set

2 -3 -5 -1 3 5 ,
I[fA=|-1 4 5land B=|1 —3 —5|Provethat AB =BA
i -3 —4 -1 3 5

OR
IfA={1,2}, B={2,3} and U={1,2,3,4}

then verify that (i} (AUB) = A'N B' (i} (ANB) =A'U B'

Solve the following equations using inverse matrix method.

2x+3y—-z =5, 3x+2y+z=10 and x—-5y+3z=0.

Define the following Matrices with example.

() Row Matrix (ii) Null Matrix (iii) Square Matrix (iv) Unit Matrix

Solve the following equations using cramer’s rule.
2x+7y=9 and Sx +y=6.
OR

Define the following terms.

(1) Compound Interest (ii) Annuity (iii) Sinking Fund

cp, 1.0




Q:02(B)

Q:03(A)
Q:03(B)

Q:03(A)
Q:03(B)

Q:04(A)

Q:04(B)

Q:04(A)

Q:04(B)

Prem deposited 2. 15000 in a bank at || % rate of compound interest, What
amount will he receive at the cnd of 5 years ? How much interest will he get .
Find the equation of a line passing through the points A{x,_y|) and B(x2, v).

Find the value of n.
@ 3"P3=2®p; () If Pog+2 Po,+ e, = M,
OR

IfVE = 2236, V6 = 2.449, 7 = 2,646 and V8 = 2.828, find the value of
V55,

Find gi" of the following.

x24+6x 45

(@) y=x"+2¢ —5x+7 (ii) y=logx.¢* (i) y= T

Write the assumptions and uses of interpolation and extrapolation.

State the rules of differentiation.
OR

Solve the following LPP using graphical method.

Zmaximum. = 304“;1 + 50}'2 )

subjectto: 3x; + 2%, < 18, X1 <4, x3 <6, x1,%X =2 0

Solve the following transportation problem by vogel’s approximation
method(VAM).

Origin ‘Source
I il m v Supply
i 21 16 25 13 11
2 17 18 14 23 13
3 32 27 18 41 19
Demand 6 10 12 15
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